
S1

Translate each sentence into a multistep equation.

y diminished by two-�fths of y is equal to 15. 2)

The ratio of the sum of 2 times c and 3 to 4 is 9.3)

23 minus 5 times s gives 16.4)

The sum of three-quarters of u and 11 gives 18.5)

The quotient of 31 minus m and 5 is same as 7.6)

The sum of 8 and the quotient of 2 times b and 3 is 6.7)

The ratio of 4 times r minus 1 to 6 is 3.8)

The di!erence between 16 and product of 10 and k is 7. 9)

10)

Multiplying 5 with the di!erence between 3 times a 

and 6 gives 12.

1)

Translating Sentences into Multistep Equations

Three times the sum of 11 times x and 5 is same as 32.
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